1.Drupal is

A. Platform dependent
B. Platform independent
C. Agile

D. None of these

2.The cost of advertising a FOSS project is
A. Marginal

B. Lower

C. Higher

D. Free

3.Github is centric.
A. Project

B. Employee

C. User

D.public

4.GNU____ compiler has got C++ support
A. Ccg
B. Cgg
C. Cgc

D. Gcc

5.Full form of GPL is:

A. General Public Litigation.

B. Government Public License.
C. General Public License.

D. General Pivot License



6.The GPL was written by
A. Bill Gates

B. Thomas Eddison

C. Richard Stallman

D. Robert Clive

7.Word counterpart in LibreOffice is
A. Writer
B. Impress

C. Writo

8.LibreOffice is the default office suite of most popular

A .Microsoft distributions
B. Linux distributions
C. Mac distributions

D. X distributions

9.0pen source is driven by needs of
A. Programmers

B. Project

C. Managers

D. End users

10.A problem with traditional commercial software is its
A. Open

B. Bilateral

C. Closed

D. Partially open

11.Which of the following is not one of the 3 general
components of the Unix operating system?

nature.



the kernel

the shell

the GUI

the file system

oo ®»

12 refers to the act of creating virtual environment

containerization
virtualization
organization
creation

oo ®»

13.VM stands for

Viral Machine
Virtual Machine
Virtual Memory
Verification Model

oo ® >

14.In LAMP "A" is for

A. Application software

B. Android
C. Apache
D. Algorithm

15.Separating the logic desktop from physical machine Is called containarization

A. Logical separation
B. Desktop

C. virtualization

D. addressing



